
PŘEHLED VYTYČOVACÍCH BODŮ - KANALIZACE 
 
 
Souřadnicový systém:  S-JTSK 
 
Výšky.    Balt po vyrovnání 
 

POPIS     X     Y 

S T O K A  A  

Š s t . 1     8 0 5 8 3 6 . 5 5        1 1 1 9 8 8 6 . 5 8       

Š 1      8 0 5 8 3 2 . 6 1        1 1 1 9 8 7 9 . 1 5       

Š 2      8 0 5 8 1 1 . 6 8        1 1 1 9 8 4 2 . 1 5       

Š 3      8 0 5 8 0 2 . 5 2        1 1 1 9 8 2 6 . 3 2       

Š 4      8 0 5 7 9 1 . 0 2   1 1 1 9 8 0 6 . 0 8  

Š 4 a      8 0 5 7 8 6 . 9 3   1 1 1 9 7 9 9 . 0 3  

Š s t . 3     8 0 5 7 8 6 . 9 9   1 1 1 9 7 9 7 . 4 3  

 

S T O K A  B  

Š 1      8 0 5 8 3 2 . 6 1        1 1 1 9 8 7 9 . 1 5       

Š 5      8 0 5 8 5 8 . 3 7        1 1 1 9 8 6 3 . 7 7       

Š 6      8 0 5 8 7 6 . 4 0        1 1 1 9 8 5 3 . 0 0       

Š 7      8 0 5 8 7 1 . 1 3        1 1 1 9 8 4 4 . 1 8            

Š 8      8 0 5 8 6 6 . 7 6        1 1 1 9 8 3 6 . 8 6       

Š 9      8 0 5 8 9 5 . 6 4        1 1 1 9 8 1 8 . 9 2      

 

S T O K A  C  

Š 2      8 0 5 8 1 1 . 6 8        1 1 1 9 8 4 2 . 1 5       

Š 1 0      8 0 5 8 5 3 . 6 0        1 1 1 9 8 1 5 . 3 7       

Š 1 1      8 0 5 8 4 9 . 4 0        1 1 1 9 8 0 8 . 4 1       

Š 1 2      8 0 5 8 4 4 . 1 2        1 1 1 9 7 9 9 . 6 3       



Š 1 3      8 0 5 8 3 6 . 5 7        1 1 1 9 7 8 7 . 1 0      

 

S T O K A  C 1  

Š 1 2      8 0 5 8 4 4 . 1 2        1 1 1 9 7 9 9 . 6 3       

Š 1 4      8 0 5 8 7 4 . 1 0        1 1 1 9 7 8 1 . 5 7     

 

S T O K A  C 2  

Š 1 3      8 0 5 8 3 6 . 5 7        1 1 1 9 7 8 7 . 1 0      

Š 1 5      8 0 5 8 4 8 . 7 9        1 1 1 9 7 7 8 . 1 6      

Š 1 6      8 0 5 8 6 2 . 5 0        1 1 1 9 7 6 8 . 1 2     

 

S T O K A  D  

Š 3      8 0 5 8 0 2 . 5 2        1 1 1 9 8 2 6 . 3 2       

Š 1 7      8 0 5 8 3 1 . 6 5        1 1 1 9 8 0 7 . 3 8       

 

S T O K A  E  

Š 4      8 0 5 7 9 1 . 0 2   1 1 1 9 8 0 6 . 0 8  

Š 1 8      8 0 5 8 1 5 . 0 2   1 1 1 9 7 9 2 . 1 5  

 

S T O K A  K  

Š s t . 2     8 0 5 9 2 2 . 8 1        1 1 1 9 8 3 5 . 6 8  

Š 1 9      8 0 5 9 1 7 . 5 7   1 1 1 9 8 2 2 . 9 8  

Š 2 0      8 0 5 8 9 1 . 0 6   1 1 1 9 7 8 0 . 6 0  

Š 2 1      8 0 5 8 7 9 . 3 7   1 1 1 9 7 6 1 . 6 4  

Š 2 2      8 0 5 8 8 1 . 5 4   1 1 1 9 7 5 5 . 0 6  


